

PP44862

MIHÁLY BENCZE - ROMANIA

If $a > 1$ and $n \in \mathbb{N}$ compute:

$$\int_{\frac{1}{a}}^a \frac{x^n \arctan x}{x^{2n+2} + x^{n+1} + 1} dx$$

Solution by Daniel Sitaru and Claudia Nănuți.

$$\text{Let be } y = \frac{1}{x} \Rightarrow x = \frac{1}{y} \Rightarrow dx = \frac{-1}{y^2} dy$$

$$x = \frac{1}{a} \Rightarrow y = a$$

$$x = a \Rightarrow y = \frac{1}{a}$$

$$\begin{aligned} \Omega &= \int_{\frac{1}{a}}^a \frac{x^n \arctan x}{x^{2n+2} + x^{n+1} + 1} dx = \int_a^{\frac{1}{a}} \frac{\frac{1}{y^n} \arctan \frac{1}{y}}{\frac{1}{y^{2n+2}} + \frac{1}{y^{n+1}} + 1} \left(-\frac{1}{y^2}\right) dy = \\ &= \int_{\frac{1}{a}}^a \frac{\frac{1}{y^{n+2}} \arctan \frac{1}{y}}{\frac{y^{2n+2} + y^{n+1} + 1}{y^{2n+2}}} \cdot dy = \int_{\frac{1}{a}}^a \frac{y^n \arctan \frac{1}{y}}{y^{2n+2} + y^{n+1} + 1} dy = \end{aligned}$$

$$(1) \quad \Omega = \int_{\frac{1}{a}}^a \frac{x^n \arctan x}{x^{2n+2} + x^{n+1} + 1} dx$$

$$(2) \quad \Omega = \int_{\frac{1}{a}}^a \frac{x^n \arctan \frac{1}{x}}{x^{2n+2} + x^{n+1} + 1} dx$$

By adding (1);(2):

$$\begin{aligned} 2\Omega &= \int_{\frac{1}{a}}^a \frac{x^n (\arctan x + \arctan \frac{1}{x})}{x^{2n+2} + x^{n+1} + 1} dx \\ \Omega &= \frac{1}{2} \cdot \frac{\pi}{2} \int_{\frac{1}{a}}^a \frac{x^n}{(x^{n+1} + \frac{1}{2})^2 + \frac{3}{4}} dx \\ \Omega &= \frac{\pi}{4(n+1)} \int_{\frac{1}{a}}^a \frac{(x^{n+1} + \frac{1}{2})'}{(x^{n+1} + \frac{1}{2})^2 + (\frac{\sqrt{3}}{2})^2} dx \\ \Omega &= \frac{\pi}{4(n+1)} \cdot \arctan \left(\frac{x^{n+1} + \frac{1}{2}}{\frac{\sqrt{3}}{2}} \right) \Big|_{\frac{1}{a}}^a \\ \Omega &= \frac{\pi}{4(n+1)} \left(\arctan \left(\frac{2a^{n+1} + 1}{\sqrt{3}} \right) - \arctan \left(\frac{2 + a^{n+1}}{\sqrt{3}} \right) \right) \end{aligned}$$

□

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA
TURNU - SEVERIN, ROMANIA

Email address: dansitaru63@yahoo.com